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QUESTION 1

An administrator is using Nutanix Move to migrate a Windows VM from ESXi to AHV. Automated guest preparation is
failing with an error:

Account has UAC enabled error

The administrator is using the local built-in administrator account for the Windows VM Admin approval mode must
remain enabled.

What should the administrator do to continue with the migration with Nutanix Move?
A. Use a Domain Admin account for the Windows VM

B. Reboot the Windows VM and try the migration again

C. Follow manual VM preparation guidelines

D. Place Windows VM in Maintenance Mode

Correct Answer: C

Reference: https://portal.nutanix.com/page/documents/kbs/details?targetld=kA00e0000009DpgCAE

QUESTION 2

An administrator needs to make sure an RF3 cluster can survive a failure of two complete racks without negatively
affecting performance. The current cluster configuration consists of the following: 30 All Flash Nodes: distributed 10
nodes per rack across three 42U racks Each node is configured with 20TB usable storage all flash (Cluster Total 600TB
Usable) Current cluster utilization is 500TB storage Storage containers have Erasure Coding enabled

Which configuration changes should be made to make sure the cluster meets the requirements?

A. Expand the cluster to 50 nodes distributed evenly across 5 racks

B. Expand the cluster to 48 nodes distributed evenly across 6 racks

C. Expand the cluster to 60 nodes distributed evenly across 6 racks

D. Expand the cluster to 40 nodes distributed evenly across 5 racks

Correct Answer: C

QUESTION 3

A customer wants to run SAP HANA on a Nutanix cluster with the following characteristics: AHV nodes SAP HANA
version 2 Production database files

Which configuration should be recommended to the customer?
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A. Start with a cluster containing three or more nodes

B. Enable only compression for the container that contains the Production database

C. Do not enable compression, deduplication, or erasure coding on the storage container

D. Plate the SAP HANA Database on the same socket as CVM

Correct Answer: C

Do not configure storage-saving functionalities such as compression, deduplication, or erasure coding (EC-X) on a
storage container that holds production database files. Because of the way the SAP HANA Persistence Engine stores

data,

these features deliver no benefits. Nutanix SAP Engineering has tested compression with SAP HANA workloads; the
tests indicate no noticeable performance impact but also show no reduction in the space the SAP HANA workload

consumes.
Reference:

https://www.nutanix.com/go/sap-hana-on-nutanix-bpg

QUESTION 4

A customer needs a DR solution designed around the following requirements: There are 8 ms of latency between Sites
A and B The administrator needs the shortest RPO/RTO possible Application consistent snapshots are required Use of
Nutanix VSS

Which Data Protection Method should be used?

A. Async

B. Metro Availability

C. Near Sync

D. Cloud Connect

Correct Answer: C

QUESTION 5

An administrator has two clusters: Site A and Site B. Async DR is configured between the clusters as follows: Site A is
the Primary Site Site B is the Secondary inactive Site, no VMs running Site A is fully in Production Site B used as
Backup/Disaster Recovery

The customer wants to perform a planned failover between the sites. How should the administrator accomplish this?

A. Click Activate on the Secondary site within the Data Protection Dashboard
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B. Click Activate on the Secondary site and run deactive NCLI command on Primary site
C. Choose Migrate on the Secondary site within the Data Protection Dashboard
D. Choose Migrate on the Primary site within the Data Protection Dashboard

Correct Answer: D

Reference: https://portal.nutanix.com/page/documents/details?targetld=Web-Console-Guide-Prism-v510:wcprotection-
domain-failover-wc-t.html
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